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Bk oA 4y 15:20
k0 ] C 24.5
7K 15 C 16.5
a &l DI
B k0 L
EOH em 20.0
i = /s 11.73
pH 7.6
DO mg/1 .4
BOD mg/1 .5
COD mg/1 3.1
S S mg/1 26
N MNP/100m1 7.9 %1
s = = mg/1 .0
i ) N mg/1 0.11
M WERE = R mg/1 —
AR RE 2 R mg/1 —
TR D LREER mg/1 —
v bR RE mg/1 —
¥ B I 19
@ E i3 —
B T A mg/1 —
S/ AVEN mg/1 —
> MU U A mg/1 —
KU U A mg/1 —
WHE A A4 v mg/1 —
it B8 4 A4 » mg/1 —
p H4. 87V V) fiE meq/1 —
R s E mS/m 7.4
P MR IBERESL 1#/100m1 —
Va=2= P WIF we/l —
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| H AA|l 8H24H
B oK L & oo
PN 173 &
Bk oA 4y 13:30
k0 ] C 26.0
7K 15 C 20.0
a &l DI
B k0 L
% 1 B cm 10
i = /s 20. 85
pH 7.7
DO mg/1 .3
BOD mg/1 .6
COD mg/1 3.4
S S mg/1 41
N MNP/100m1 1.3 %2
s = = mg/1 1
i ) N mg/1 . 024
M WERE = R mg/1 —
AR RE 2 R mg/1 —
TR D LREER mg/1 —
v bR RE mg/1 —
¥ B I 28
@ E i3 —
B T A mg/1 —
S/ AVEN mg/1 —
> MU U A mg/1 —
KU U A mg/1 —
WHE A A4 v mg/1 —
it B8 4 A4 » mg/1 —
p H4. 87V V) fiE meq/1 —
R s E mS/m 7.3
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k0 ] C 25.0
7K 15 C 17.5
P48 &l AH8 o)
B k0 L
% 1 B cm 2.0
i = /s 19. 62
pH 7.7
DO mg/1 10
BOD mg/1 0.6
COD mg/1 8.3
Ss mg/1 300
N MNP/100m1 1.3 %2
i = %= mg/1 2.6
i ) N mg/1 0.17
M WERE = R mg/1 —
AR RE 2 R mg/1 —
T =Y AEEFR mg/1 —
v bR RE mg/1 —
V&) B B 220
@ E i3 —
B T A mg/1 —
S/ AVEN mg/1 —
> MU U A mg/1 —
KU U A mg/1 —
WHE A A4 v mg/1 —
it B8 4 A4 » mg/1 —
p H4. 87V V) fiE meq/1 —
R s E mS/m 6.8
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Va=2= P WIF we/l —




K OH OF X (Z01)
BLAIPT \ SR A A b KF4 W ) )14 wmoE SRk 134E (20014F)
5 H AH| 8H24H
2 VA -+ oD
PN e i
(2 S K53 9:40
= b °C 25.0
Vi ik C 18.0
P48 &l P ioh=ai]
B = oL
% 1A B cm 1.5
it S m/s 60. 31
pH 7.6
DO mg/1 10.0
BOD mg/1 0.6
CcCOD mg/1 10
SS mg/1 410
KB E OB MNP/100m1 1.6 %3
i = = mg/1 4.4
W ) Mg mg/1 0.25
BRI U A mg/1 —
o Y SN mg/1 —
& mg/1 —
Vask i 72N = T mg/1 —
= F# mg/1 —
b3 7K ki mg/1 —
TR ILKER mg/1 —
PCB mg/1 —
NV RA=0=1== 2 % mg/1 —
FARN /A= 0= 1= al P mg/1 —
oAb R mg/1 —
DEA=R=0 Vg mg/1 —
1,2—Y Junzhy mg/1 —
1, 1, 1-pJmnzpy mg/1 —
1,1, 2-p)Jmnxhy mg/1 —
1, 1=¥" Junxfly mg/1 —
Vi1, 2=V Junzfly mg/1 —
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H H HAHB| 8H24H
1,3~V Jmn7" un’y mg/1 —
F v 7 A mg/1 —
DY mg/1 —
FARIINT mg/1 —
~N B v mg/1 —
+ 9% v mg/1 —
- o e mg/1 —
R 7 # mg/1 —
EEEIEZE R K OV AR TEZE S mg/] —
TR LHEER mg/1 —
v SRR RE R mg/1 —
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A N VN mg/1 —
S AN mg/1 —
F FU U A mg/1 —
BV U A mg/1 —
WEA L mg/1 —
it & A4 &+ v mg/1 —
p H4.87 VAV JE meq/1 —
B R AR mS/m 7.2
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(77 nEy Junphy) mg/1 —
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